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(1) BI=(a®>-3a%+3ab?>—b°)+(3a%—3abY)=a’—b°=%30
&£oT a®’—b°=(a—0)°%+3ab(a—0b)
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2) Eiﬂ=<a2+ab+%>+zb2=a2+ab+52:Eﬂ
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koT a2+ab+b2=<a+%> +%b2

(3) £B=1+3x+3x*+x*
Al=1+x+x+22+2(14+2x+2?
=1+3x+3x*+«*
EAERANB LRIZE DM D
14+ 2°=14 2+ 21+ 2 +x(1+2?
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a+b+c=0&Y, c=—(a+b) THBEIHMID
a’+ca—(b%+bc) =a’—(a+bla—b*+bla+b)
=a’—a®*—ab—b"+ab+b?
=0
k2T  a*+ca=b*+be
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a+b=—c, b+c=—a, c+a=—-bTHDHMbHD
il =ab(—c)+bc(—a)+ca(—b)+3abc
=—abc—abc—abc+3abc
=0
EoT abla+b)+bcb+c)+calc+a)+3abc=0
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(Bx—4y)—(x—2y)=2x—2y=2(x—y)

I>y THDIMD x—y>0

£oT (Bx—4y)—(x—29)>0
LEA>T 3x—4y>x—2y
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x>2, y>3 &Y

x—2>0, y—3>0

ThHdaMI5 (x—2)(y—3)>0
£oT (xy4+6)—(3x+2y)>0

Li=ttoT 2y+6>3x+2y
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(22 4+9y%) —6xy=x*—6xy+9y*
=(x—3y)°=0
&2T 2249y’ =6ay
EENRYIDDIE, x—3y=09FHGhHhE1=3y DEETTH5B,
(a+b)’—4ab=a’+2ab+b%—4abd
=a’—2ab+b*
=(a—b)=0
£oT (a+b)=4ab
EENRYIDODIE, a—b=0FEhEa=bDEETHD,
(2224+99%) —6xy=x+x%—6xy+9y*
=x24+(x—39)°%=0
£oT 24249y >6xy
LZENRYIZDODIE, x=0HmhDx—3y=0, bbb s=y=0DEETH5,
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(lal +18])*—|a — bl*=|al®+ 2|allb] +|b]* —(a —b)*
=a’+2abl+b*—(a®—2ab+b?
=2(|abl+ab)=0

£oT (lal +16)*=la — b|*
lal +161 =0, la—bl=0 THZEHD
la|l +1b| =|a — b|

EENMYILDODIE, |abl=—ab T7805 ab<0DEETHD
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